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Topic:- Child Development & Pedagogy (CDP)

1) The full form of SEN is . | SEN &1 Qi &g gl

1. Special emotional negotiation / Hﬁw stﬁw ﬁ’ﬂm

2. Social education needs / TR TIHIA H1gq

3. Special educational needs / TR TIHRA A1gd

4. Special and exceptional needs / WIT 3R TRIRET Hgd

Correct Answer :-

« Special educational needs / WA THRAA A1€H

2) The need for child-centered education has increased mainly because: / qa-Sid fﬂT&-IT P AP ar HEId: fasrRu S de Tt %:
1. Parents have no time for their children. / ATT-fUdT & UTY (U= g=ai o 1%1? JHg :rEﬁ% |

2. Parents are less qualified. / ATaT- T 1 g g

3. Teachers have better qualification. / ﬁTW P aﬁ?ﬂ R | %I

4. Teachers are more equipped to deal with overall development. / e Wﬁm%ﬁﬂ 3w W%I

Correct Answer :-

« Teachers are more equipped to deal with overall development. / e qufﬁw & forw oifde {N‘%ﬂ %I

3) People who are categorized on the basis of economic condition are known as belonging to a particular ./ o1 & Y e

fRufy & YR R Fifepa far wrar 8 32 ve faxy { TR wu & ST ST 21
1. Ethnic group / Huﬁmgq
2. Religion/‘m:f

3. Class / i
4. Caste / SIfQ

Correct Answer :-

« Class /T

4) Perception of a particular method of teaching is different among learners because: / Rreor w5t Udh fa=iy ygfa Y uon Rrenfiat & &
i & wifes -

1. they do not want to learn. / q g qﬁmﬁ %I

2. they don’t like the topic. / 3% fowg &Y Na :|_E>pf % |

3. perception is dependent on the environment learners are accustomed to. / YRUI Rrenfat & wafaRor w ARk %, [SREREE] %I
4. some of them do not like the teacher. / S5 ¥ P R o1 IRig T8 Fd g |

Correct Answer :-

« perception is dependent on the environment learners are accustomed to. / YRRU Renffat & gafaror wR fk %, o amd %I
5) What is the primary change that occurs during puberty? / W F IRE B aren wdfe gfeada war %?

1. Psychological maturity / TS uRuedr

2. Social maturity / STHTRT TRUeHdT

3. Cognitive maturity / STHIH® uRuear



4. Sexual maturity / LIRRCIRCEI]

Correct Answer :-

« Sexual maturity / 419 ufgesdr

6) At what age does the newborn recognize the mother’s voice? / g 39 ¥ qawma ﬁT{[ T P} AT B eIl %‘.’
1. At birth / SH J

2. At three months / diF q@‘ﬁ 1°03

3. At six months / &: Ilﬁef R

4. At nine months / :ﬁ 13[_5.9[31 R

Correct Answer :-

« Atbirth/ STHY

7) Who was a development theorist of the mid-twentieth century who is best known for his specific and detailed theory of children’s moral

aevelopme%t?/mmﬁmwﬁwﬁmﬁmaﬁqmﬁaﬁ%ﬁﬁmﬁwm%smﬁﬁﬂvﬁvﬁwﬁaﬁ%ﬁq
ST STt 82

1. Lawrence Kohlberg / aﬁ?{ aﬁsaaﬁ
2. Vygotsky / EIENIRE]

3. Piaget / s

4. Erikson / 3ﬁi|3‘a={

Correct Answer :-

« Lawrence Kohlberg / ang a”ﬁ_E?W'f

8) Who proposed the “Law of Effect”? / fram aura &1 fFraw ufawfea fear
1. Sternberg / Tfant

2. Fromm / /19

3. Thorndike / YTHSTE®

4. Bandura / E\II'U§?T

Correct Answer :-

« Thorndike / USTEH

9) Who developed the first intelligence test? / g cil Q'@THT T\&&‘I'UT (é?f) foum fowfRa fean
1. Binet and Vernon / f§e 3iR a7

2. Binet and Simon / fS9ie 3R R

3. Goddard and Terman / TSTS 3R T

4. Goddard and Wechsler / TETS 3R JETR

Correct Answer :-

« Binet and Simon / 7 3iR R

10) Preprimary education in India carried out through Anganwadi Centres falls under the uRaH G{Fﬁaﬁ-ﬁ Pl & ureaa A
& S arelt gd-wrafire fRiem ¥ Siarta et B

1. Ministry of Social Justice and Empowerment / TR g 3R SiferepTRar Harer
2. Ministry of Health and Family Welfare / TR 3R URER ST HTe
3. Ministry of Women and Child Development / Hfgen 3R &1 fap T HaTe™

4. Ministry of Human Resource Development / HTId JHT¢ [ECAREEINE

Correct Answer :-



o Ministry of Women and Child Development / Higdr 3R 91d fddmr Haarer
11) Critical thinking is an aspect of: / g IEGE] ﬁ":F[ DI TR trsq%

1. Bias / U&UTd

2. Reasoning / GCg

3. Belief/ ﬁ%{m

4. Emotion / HTGAT

Correct Answer :-

» Reasoning / GE2

12) The judgement of the quality of teaching depends on: / Regor @t TOTaT DT i ﬁTF{ R R wear %:
1. Developing a relationship / et o fadmiRid 1 W

2. Attainment of information / ST®HRI BT UTGT TR

3. Discipline / 3{IRMHT WX

4. Overall development of student / I & g fap W

Correct Answer :-

« Opverall development of student / T & g fapg R

13) The abbreviated term ADHD denotes: / m Rleg ADHD (Q@'Qir{-ﬁ) ﬁTF{ ol EQ'I'i_dT %:
1. Attention Deficit Hypersensitivity Disorder / ®IT 3{HId SffaddeTRiiadr fdeR

2. Attention Deficit Hyperactivity Disorder / &I 3{HId fchaar fdeR

3. Active Deficit Hyperactivity Disorder / iepa YT FfehadT fadR

4. Aggression Deficit Hyperactivity Disorder/ 3TehTHS T 3{HTd Hfchddl fdpR

Correct Answer :-

« Attention Deficit Hyperactivity Disorder / &1 {HId fchaar fdeR

14) Which one of the following is not an internal factor of attention? / Frafefaa & @« e\ (SAYTT) BT TR 3TaR® FRE 71'5&%"
1. Interest / &

2. Intensity / diardm

3.Mind set / Jd YRUI (AigS Ie)

4. Motives / SROT

Correct Answer :-
« Intensity / cfear

15) Which of the following factors did Kohlberg focus on in his theory of morality? / aﬁﬁ?ﬁﬁ 3 Afawar F frgia ¥ Fufafea sRe!
T & fra W w= Siga foear

1. Family influences / AR Uy
2. Cognitive development / ST fdenTd
3. Culture / m

4. Gender differences / foTTT ﬂ?{

Correct Answer :-

« Cognitive development / ST I

16) Which of the following is not an objective of Continuous and Comprehensive Evaluation? /Frafafad«n W@WW

BT LRI TEI 87



1. Plan teaching-learning situations. / Rrefur-s1ferTy fRUfATT B AT TIR BT |

2. Communicate the child’s progress to different stakeholders. / S B! YIfa ! Al %HW P AT |

3. Map changes in the child’s learning and development. / T & AT 3R faera § uRad=t &1 g s |

4. Inculcate fear in the minds of pupils, so that they are able to perform better. / foenfal & 1= & v Uer HAI, Alfb d g’ U&H &R I |

Correct Answer :-

« Inculcate fear in the minds of pupils, so that they are able to perform better. / faenfifat & m= & v U AT, T d S8R UEH B b |

17) Which of the following is not a risk factor for drug use that is directly attributed to parents? /

fFrafafEa 3 @ $19 91 397 STa & e wifew oRe 81 & /e e Arar-Rar vae 9§ SwRer! e o
1. Childhood negligence / STeAaIT TTURATE!

2. Abuse / GHAER

3. Peer rejection / TEHHI SRATHIUT

4. Genetic inheritance / 3{TIATRT ORI

Correct Answer :-

« Peer rejection / Wﬁ 3RGIHIT

18) A child realizes that a four-legged animal that neighs cannot fit into her existing schema of ‘dog’. What process will she undertake to fit

this new information into her schemas? /Wﬁﬁﬁﬁﬁﬂ%%ﬂ'ﬁ?mw,ﬁﬁﬁ?m%, 'Tjﬁ' %ﬁq&‘rmﬁﬁ:—c
T8 B TP dT 81 59 7S STHBRI B 59 PR | fibe $31 & 1T a8 i A ufthar sro=mem?

1. Disequilibration / 3T
2. Accommodation / FHTST
3. Assimilation / 3THITT

4. Homeostasis / gafufa

Correct Answer :-

« Accommodation / FHTIS

19) A child finds it hard to recall the Hindi letters he learnt for today’s exam because of the Kannada exam he wrote yesterday. What is this

phenomenon known as°/qaﬁaéﬁmaﬂuﬁ&n%ﬁmmﬁﬁwﬁ%ﬂamﬁﬁmmmmﬁﬁﬂa@muﬂ&n%
PR HfS T & | T 1 P {5 717 A ST ST 82

1. Retroactive interference / q@ﬁa@ Y
2. Retrograde interference / gt sraRiy
3. Anterograde interference / ST} 3Ry
4. Proactive interference / W SRY

Correct Answer :-

« Proactive interference / \}I"/'nm SRTY

20) According to Vygotsky, child’s language and thought develop . | IR & SUR, TR FI UTHT R fAR
fawfa wea 7

1. independently of each other, then merge / Udh w I Wgdd W diq o g # gfeifed _Epf iGS %
2. independently of each other / Udh @% BECRES

3. universally across the culture / it Wﬁa}f R I

4. together as child grows / = & fd®T™ & T1Y

Correct Answer :-

« independently of each other, then merge / U Q'Hi' T gdd Eﬁm gTe | g § gfRaferd _6;[ NG %



Parents who have a lot of rules but support their children to follow the rules, are adheringto____ . / EIEIGIBUGH qdgd IR | T %
AP v F=if ) FPrawl T Ut B & fore weraar e § BT 3RV H §

1. Uninvolved Parenting / 3{eg qreH-aryo

2. Permissive Parenting / m YTeH-aIyoy

3. Authoritative Parenting / 3eHTNG UTeTH-TreoT (N‘qﬁ%ﬁaaﬁn

4. Authoritarian Parenting / SHfYBRATE UTerH-UIvoT (G{Qﬁﬁ%ﬁ@:ﬁ WTI')

Correct Answer :-

« Authoritative Parenting / SATIABTR G UTer-IwoT (31Y Yefea Rife )

22) is the desire to act and move towards a goal. / 1 H M Uh d&d P 3R Hﬁﬁg@l%l
1. Perseverance / €gdl

2. Valour / 9Ted

3. Motivation / ORI
4. Grit/ ¥F

Correct Answer :-

« Motivation / ORUT

23) Which of the following theorists emphasizes the importance of categorization in the learning process? / fFafufEd Rigider # @ $149
ST Ft uferar # FiffeRor & Hed W Wik 3 32

1. Kohler / aﬁ_@'{{
2. Bandura / a@ﬂ
3. Bruner /@R
4. Pavlov / Yqdta

Correct Answer :-

« Bruner /&R

24) Problem-based learning in science encourages learners’ scientific habits of mind. Which of these options best describes some of the
guidelines for problem-based learning?/ fagm= H gHIgT- ST fﬁT&IT, Rrenfiat #t v ainﬁiﬁ 3l B Eﬂ?\‘lﬂ%ﬁ Bt %I sﬂﬁ REaC k|
faweu wuw-snuia Rigia TR & oo fRznfd=n o1 3fa auia wwar @2

1. Reading, writing, listening/ UeTT, feraT, g1

2. Thinking up ideas, using multimedia, making variables/ A IS BT IUTNT HXh, TR TIHR [aaR] BT JHIAT
3. Asking questions, constructing a hypothesis, repeated trials/ 9% Y&, U RS &1 fmfor HRAl, dR-dR TRI&OT AT
4. Discussions, a fixed number of trials, cooperative learning/ =T, fAf3d Tem & e, TeHR! Rieor

Correct Answer :-

« Asking questions, constructing a hypothesis, repeated trials/ W% T&T, T UReeU=T BT fAHT0T FHRAT, TR-TR TRA&01 FH3AT

25) The apparatus used for measuring the span of attention is . [ SaUE ﬁﬁﬁ (ﬁw 3w Gfé"RT-'-I) & A & ferg Ugod foram w9 arar
ITH g

1. Tachistoscope / R
2. Microscope / W

3. Telescope / %?ﬁ'ﬂﬁq
4. Epidiascope / m

Correct Answer :-

« Tachistoscope / RS

26) Id, ego, superego is put forth by: / U89, 3(€, WTE (YW o ¥ | frae gr1 wifta i3



1. Maslow / TT&A
2. Pavlov / §adid
3. Jung / G

4. Freud / ThIIS

Correct Answer :-

o Freud / IS
27) The Expectancy Theory of motivation states that: / IR0 & Rigia & ®gar g ¥:
1. People are motivated to do things due to external rewards. / QR¥PRR J Af df A B ]%IQ ofa @Fﬂ %"I

2. There is a hierarchy of needs in each individual. /W Hfad H SRl dbl T YaldshH Eﬁ?ﬂ %I
3. There is a desire in a person to become what he is capable of becoming. / T3t Safdd & 98 571 &1 31 8l & Sl 98 &9 & J&m B
4. Motivation depends on the desirability of the outcome. / 3IERTT GRUMA # 33T R ARk a1 3|

Correct Answer :-

« Motivation depends on the desirability of the outcome. / 3R GRUMA & 33T R AR a1 31

28) CANCELLED

Who among these psychologists have developed a theory of personality based on 2 dimensions: introvertion and extrovertion? / g1 Hﬁaﬁlﬁ?ﬁ -k
foram 2 smamY S ok ST ¥ SR W Afddd &1 ue Rigid Refie fFar 8:2

1. Sigmund Freud/ Rrds wrre
2. Carl Jung/ Ear] g

3. Erich From/ Q"W wH

4. Hans Eysenck/ %ﬂ 3“3@?5

Correct Answer :-

« Hans Eysenck/ %?l W

29) Teaching in an inclusive classroom is a challenge for teachers and demands certain ./ gHTah DET ﬁ’T@fFIT,

gt & forg vas gl 8 ok sud FAffa w=u Pt aTIHAT B
1. Habits/l;l?gﬁ

2. Talent / 9faHT
3. Expertise / Q&

4. Practice / 3{¥1H

Correct Answer :-

« Expertise / G&dl

30) is found to be effective at achieving conceptual change. /

P 3 uikad urd #39 § gyt urar man @1
1. Reading textual materials/ UT& 3T TR SfeTa= YoTelt

2. Labs / TANTRITGT

3. Discovery learning / f$¥@aR] 3iferTH

4. Detecting an anomaly / ESRISER ISR

Correct Answer :-

« Detecting an anomaly / ol o1 gar eI

Topic:- General English(L1GE)

1) Fillin the blank with the correct option in the given sentence:



A group of five persons or things is a --tet.
1. quadr --

2. sex --

3. quint --

4. octa --

Correct Answer :-

2) Fillin the blank with the correct option in the given sentence:

Australia is the bigg-- island in the world.

1. —iest
2. --est
3. —ier
4. -er

Correct Answer :-

3) Read the passage carefully and answer the question that follows:

Your schooling is truly important in deciding your career. When you are in Class X, you have to face the board exams. You also have big dreams about what you want to
become and do in your life. You then realize that suddenly you face difficult questions and you have to make decisions. You need to set yourself realistic goals and plans to
achieve those goals.

One of the key decisions to make at this stage is the selection of subjects in Plus Two and later in a college or university. The simplest approach would be to choose subjects that
you like. Do you think that it will work well for you? It may not, for obvious reasons.

Which of the following is NOT stated in the passage?

1. You must choose a career that will match the subjects you like.

2. Schooling is an important stage in one’s life.

3. Class X students face difficult questions for making decisions about their life.

4. One of the key decisions to make for students is about the choice of subjects.

Correct Answer :-

» You must choose a career that will match the subjects you like.

4) Read the passage carefully and answer the question that follows:

Your schooling is truly important in deciding your career. When you are in Class X, you have to face the board exams. You also have big dreams about what you want to
become and do in your life. You then realize that suddenly you face difficult questions and you have to make decisions. You need to set yourself realistic goals and plans to
achieve those goals.

One of the key decisions to make at this stage is the selection of subjects in Plus Two and later in a college or university. The simplest approach would be to choose subjects that
you like. Do you think that it will work well for you? It may not, for obvious reasons.

What would be the immediate concern of a Class X student?
1. Making parents happy with good results

2. Deciding what subjects to study in college

3. Scoring well in the Board exams

4. Scoring well in Plus Two

Correct Answer :-

e Scoring well in the Board exams



5) Read the passage carefully and answer the question that follows:

Your schooling is truly important in deciding your career. When you are in Class X, you have to face the board exams. You also have big dreams about what you want to
become and do in your life. You then realize that suddenly you face difficult questions and you have to make decisions. You need to set yourself realistic goals and plans to
achieve those goals.

One of the key decisions to make at this stage is the selection of subjects in Plus Two and later in a college or university. The simplest approach would be to choose subjects that
you like. Do you think that it will work well for you? It may not, for obvious reasons.

From the passage, we can infer that:

1. Choosing the subjects that one likes may not be the best approach.
2. Students should study even the subjects that they don’t like.

3. Students should choose subjects that they like.

4. Students should choose subjects that they do well in.

Correct Answer :-
« Choosing the subjects that one likes may not be the best approach.

6) Read the passage carefully and answer the question that follows:

Your schooling is truly important in deciding your career. When you are in Class X, you have to face the board exams. You also have big dreams about what you want to
become and do in your life. You then realize that suddenly you face difficult questions and you have to make decisions. You need to set yourself realistic goals and plans to
achieve those goals.

One of the key decisions to make at this stage is the selection of subjects in Plus Two and later in a college or university. The simplest approach would be to choose subjects that
you like. Do you think that it will work well for you? It may not, for obvious reasons.

‘What is the passage about? Choose the best answer.
1. Passing the Class X Board exams

2. Making choices in one’s life, particularly in studies
3. Choosing subjects in Plus Two

4. Choosing one’s career

Correct Answer :-
« Making choices in one’s life, particularly in studies

7) Read the passage carefully and answer the question that follows:

A striped hyena, which saw death face to face more than a year ago, is slowly limping back to life at the veterinary unit attached to a Tiger Reserve (TR) in Tamil Nadu. Beaten
up by villagers in the last week of October 2017, when it strayed into their village, the injured hyena was lucky to be spotted by forest field staff on November 4, 2017.

Though they felt that the animal couldn’t be saved, the forest officials alerted the veterinary officer at the Reserve. He was not ready to give up on the near threatened species.
He took it to the veterinary unit the same evening and the hyena wouldn’t have known that it was going to be the beginning of a second innings in its life.

What is the passage about? Choose the best answer.

1. A veterinary officer who treated wounded hyena

2. A hyena which is a near threatened species

3. A tiger reserve which has a veterinary unit attached to it

4. A severely wounded hyena which was brought back to life

Correct Answer :-
« A severely wounded hyena which was brought back to life

8) Read the passage carefully and answer the question that follows:

A striped hyena, which saw death face to face more than a year ago, is slowly limping back to life at the veterinary unit attached to a Tiger Reserve (TR) in Tamil Nadu. Beaten
up by villagers in the last week of October 2017, when it strayed into their village, the injured hyena was lucky to be spotted by forest field staff on November 4, 2017.



Though they felt that the animal couldn’t be saved, the forest officials alerted the veterinary officer at the Reserve. He was not ready to give up on the near threatened species.
He took it to the veterinary unit the same evening and the hyena wouldn’t have known that it was going to be the beginning of a second innings in its life.

How was the hyena seriously wounded?

1. It was shot and wounded by the forest officials.

2. It was attacked by a tiger in the Tiger Reserve.

3. It was operated by a veterinary officer at the Reserve.

4. It was severely beaten up by villagers for straying into their village.

Correct Answer :-
« It was severely beaten up by villagers for straying into their village.

9) Read the passage carefully and answer the question that follows:

A striped hyena, which saw death face to face more than a year ago, is slowly limping back to life at the veterinary unit attached to a Tiger Reserve (TR) in Tamil Nadu. Beaten
up by villagers in the last week of October 2017, when it strayed into their village, the injured hyena was lucky to be spotted by forest field staff on November 4, 2017.

Though they felt that the animal couldn’t be saved, the forest officials alerted the veterinary officer at the Reserve. He was not ready to give up on the near threatened species.
He took it to the veterinary unit the same evening and the hyena wouldn’t have known that it was going to be the beginning of a second innings in its life.

From the passage, we can infer that:

1. The hyena finally died because it saw death.

2. The villagers killed the hyena by beating it up severely.
3. The hyena could not be saved.

4. The hyena was finally saved and it came back to life.

Correct Answer :-

* The hyena was finally saved and it came back to life.

10) Read the passage carefully and answer the question that follows:

A striped hyena, which saw death face to face more than a year ago, is slowly limping back to life at the veterinary unit attached to a Tiger Reserve (TR) in Tamil Nadu. Beaten
up by villagers in the last week of October 2017, when it strayed into their village, the injured hyena was lucky to be spotted by forest field staff on November 4, 2017.

Though they felt that the animal couldn’t be saved, the forest officials alerted the veterinary officer at the Reserve. He was not ready to give up on the near threatened species.
He took it to the veterinary unit the same evening and the hyena wouldn’t have known that it was going to be the beginning of a second innings in its life.

‘Which of the following is NOT stated in the passage?

1. The hyena was lucky because it was noticed by the forest staff.
2. The veterinary officer did not give up hope of treating the hyena.
3. The striped hyena belongs to a nearly threatened species.

4. The hyena was in coma for nearly eight months.

Correct Answer :-

« The hyena was in coma for nearly eight months.

11) Choose the appropriate determiner for the sentence given.

The teacher gave of the students a project.
1. any

2. each

3. every

4. much

Correct Answer :-



12) Which of the following options best combines the given sentences?

Tina likes to party. Sam likes to sit at home.

1. Tina likes to party while Sam doesn’t likes to party.
2. Tina likes to party, but Sam likes to sit at home.

3. Tina likes to party and so, Sam likes to sit at home.

4. Tina likes to party as Sam likes to sit at home.

Correct Answer :-

o Tina likes to party, but Sam likes to sit at home.

13) Choose appropriate articles for the given sentence:

___outsourcing is very common in ____ today’s global economy.
1.The ..a

2. A ... the

3. No article required ... no article required

4. No article required ... an

Correct Answer :-

« No article required ... no article required

14) Choose appropriate articles for the given sentence:

Arjun wants bookshelf in his room. Then he can organize his books and magazines on bookshelf.

3. the... the

4. no article

Correct Answer :-

15) Choose the appropriate option that rewrites the following sentence in indirect speech:

The hair stylist said to her customer, “You can make statement with your choice of hair style.”
1. The hair stylist said her customer that she can make a statement with her choice of hair style.

2. The hair stylist told her customer you could make a statement with your choice of hair style.

3. The hair stylist told her customer that she could make a statement with her choice of hair style.

4. The hair stylist told her customer that you can make a statement with her choice of hair style.

Correct Answer :-

o The hair stylist told her customer that she could make a statement with her choice of hair style.

16) Choose the appropriate option that rewrites the given sentence in its passive voice.

Pollution from cars and factories is contributing to changes in the environment.

1. Changes in environment from pollution from cars and factories are a contribution.



2. Changes in the environment is been contributed by pollution from cars and factories.
3. Changes in the environment are being contributed by pollution from cars and factories.

4. Pollution from cars and factories is contributed to changes in the environment.

Correct Answer :-
« Changes in the environment are being contributed by pollution from cars and factories.

17) Choose the appropriate synonym for the highlighted word in the given sentence.
The leader’s hypocrisy was revealed when he did not practice what he had preached.

1. injustice

2. sincerity

3. honesty

4. deception
Correct Answer :-
« deception

18) Choose the appropriate tenses to fill in the blanks in the given sentence:

Look! There ______ alot of clouds. It soon!
1. have been... will have been raining

2. are... is going to rain

3. is... will be raining

4. is... is raining

Correct Answer :-

e are... is going to rain

19) Choose the appropriate antonym for the highlighted word in the given sentence.

Many scientists believe the ability to multi-task is a myth.
1. fable

2. lie

3. verity

4. legend

Correct Answer :-

o verity

20) Choose the appropriate conjunction for the given sentence.
He is sick he wants to go to school.

1. that

2. when

3. because

4. yet

Correct Answer :-

21) Choose the appropriate prepositions for the given sentence:

The survival the circus is due to its ability to change the times.



1. of ... with
2. of ... over
3. from ... for

4. with ... in

Correct Answer :-

22) Choose an appropriate modal for the given sentence:

My husband play piano very well because he’s a professional pianist.

1. might
2. can
3. shall

4. may

Correct Answer :-

23) Choose the option that best explains the highlighted expression:

The old lady gave the children an earful for nearly knocking her over.
1. heard

2. lamented

3. spoke harshly

4. listened

Correct Answer :-

* spoke harshly

24) Choose the most suitable pronoun for the given sentence:
My brother and I love

1. each other

2. each other’s

3. one another

4. one another’s

Correct Answer :-
o cach other

25) Read the sentence carefully and choose the option that has an error in it:

I wait both for your cheque and comments in this regard.
1. your cheque and comments

2. | wait both for

3. No error

4. in this regard.

Correct Answer :-

* | wait both for



26) Choose the appropriate tense to fill in the blank in the given sentence:

How we get back from the fair tomorrow?
1. are

2. will

3. were

4. was

Correct Answer :-

o will

27) Rewrite the following changing the active sent to passive.

‘When campus reopens next month they will require labour initially.

1. Labour will being required by them initially when the campus reopen next month.
2. Labour will be required by them initially when the campus reopens next month.
3. Labour will required by them initially when the campus reopen next month.

4. Labour will been required by them initially when the campus reopen next month.

Correct Answer :-

o Labour will be required by them initially when the campus reopens next month.
28) Choose the option that substitutes the given phrase appropriately.
Fights between women

1. Cockfight

2. Bullfight

3. Street fight

4. Catfight

Correct Answer :-
« Catfight

29) Choose the right tag:

She dances gracefully, ?
1. isn't she

2. is she

3. does she

4. doesn't she

Correct Answer :-

« doesn't she

30) Choose the right tag:

Sneha isn’t in trouble, ?
1. can she?

2. is she?

3. does she?

4. hope not?



Correct Answer :-

e isshe?

Topic:- General Sanskrit(L2GS)

Y Al sfa eegvury fwfaa: -

3) .
Yellent afecar srenfafdsecey weaey qgdc Faad -

RS ﬁa}’rmﬂ‘ra?gmﬁ?r W@Wﬁg:l
A 4 aAT AT Haon AHRld|
3cgH: Tl 4 qig: AfFd: wha:|
Y¥od I dcded dF aa: TGl

AT FA: To: A 2



Correct Answer :-

Y dTd T AcT 9 AT T AT T A
qrFgH 3TEA Ude 3TEd-
ISR

2 ATATH
| ifderds
CRER IS EY

4.
Correct Answer :-

1

2 c
(y -~
3.
4. -

Correct Answer :-



UR=de afScdr 7T YEHc Fadd -

g usd gaear ofdr seafd | 3y {9 3iRed Tead| 34t faemm:
3edN ARAA  TIET INHAA dog: ANRT faefer: Hafed| Faiy
gfte: Smrfd| e 3fed Tscar ofeion #eRd Fdfed| TE:, o
TeART gAAE: fafeiedl uae: FHAET oo e ey i
TR

SccdAT: BHET: UelidehTel FATCATT Wb Ua fcasafed| d e et
CodUTdsl Hdfed| dae] S Fedl Tolld Hdloed | deatoc $2T eTeal
forf>ae, Stelureiies Hafed| Tagaed d BET: TUIS Uofed| TIEH:
T & HAMO Eifed | Ao FIET IMAT: I=Us: siafd| faRIve:
AfsHebIel AT 3He: Hafd| dal Yle2l: JaIvl SR 33-ed |
GAEA-THAT. UTeh HEAThTel: HATd| dGT Slell: TIPRITATAST: [Q
yfdfaded| Tl @ad faeanfder: hrseny fsfedl Jer g3
HEATIS BT dal d&d Yehlen: $fERaun: #afd| dar Afoea afa:
oafdl| Tl Fary fee] 3feusR: TERid| dar JmATT, FIfor, 3ugHfa,
FeAlfel T eTHRUT HedIGdifel Tehocd| dGT STell: FaUlod|

HIAT FIeeH THRAT |

; £l
RS
[Nas

Correct Answer :-



RS afScar T YA JIdd -
ANAET ool ool sfd A fagariea | 3r/eam: aoen fawae
faememyg T fhad | #RA U wifellar HEag TRl 3ol
faremeradAT 7Ol | [ HEAT: ATH GeauedH FcAad | Y4 SREET,
ddeT TSIV, dectock o TolAdN ATl FTra e T AT 3IHT
USTETAT 3737 | 3Tl AEehr: 30 SATHT T+l 9eH 3iag: |
HCATATRIGR-Thle [ RITAH fohtcled 3EHATh S TaTde-aH T |
deT UTSETAAATIIT $9AT g ASlell 317dd | 379 Ud HAZIAHA,
TSCufdsTaadd T T | Fealded AqMATT 5THT [T |

5 QU IHAIAT: GfaT0 a¢ faRreld | 37 eIl g Eureria
qded | 3T IHATT: 3R W dliefAHAd TeRoeaaA T | U e
giadd AN AT | 37 LAY EAHY JLAMA AT AT
STATATESIGH, ToA-HeaEdldd 3G | Ay FAGY  AsgUiastaeid,
geeedlil TGS dcled | fGeellee 3iaehifel Segmanfar 31T afea | ay
RSl Afed dlGl 36AH, STRAGIRHA (STUSAT 31T), dTeHeRT 36T,
e AT 3eTTad, fdereleartd T 3fd |

CTSCr T AA & UAd: ?
. 7o
2, T
3, .
5, TIE

Correct Answer :-

P



Yol ufScar srenfaféseed veaedr Agdaca Faad -

Heilold FRddedddl foidicad gigaar aisas)
IdTcAs IERITATT ARTHGT ROT Jued |
FEfelch STellcthelsh daT:Terel hlTder
AT THFAh HcTel U FY HIHUIHA]
qasd gRAeed I FHoldedhusd T dj,crdqu""

ol
MY yRafsedr fasrad aiareresEAior: |

T IRES: UHAG: ?

. UhIL:

Correct Answer :-

Correct Answer :-



1

2)

UR=de GfScdl Ueaed qGHc FaId -

qd: vyed qaedr Rfr seafd | 3w fared simerd wead) @t e
I AR FIET IWHAAT Tog: dRRT fdefear: siafed) @ty
gite: Serfd| @i\ sfad escar dféion @enad #dfedl oRa:, oan
oA FHAE: fAfeied| Jae: FgAEl oo e ey ey
TERAfC |

3ccdAT: BHET: Telldehel FAlCATT Uieh Ua 3fcasafed| d et edr
GordUTde $hafed| A& UM Fedl Tl Shdfed | daetedd $ €ATear
ferf>ae, STefareiiceh Hafed| Tdgaded d BET: TUS Yofed| IIERN:
T T AT Mo | ALAE FIET 3A9: FoUs: safd] faeva:
ATSHGIC AT IHEY: HATd| dar TledT: FETon SIRIH 3Pded |
GATET-HHIAT TTeh HeAThTel: Tl | darl Sfell: TahRIEAAST: T[6
yfdfAaded| VaRkaA 7Y facznfae: Hsehy disfedl aar g3
HEATTS TSI dal d&g YahrRr: FfeRaeT: #afd| der iR uf:
safd| I Fary fee] 3feudR: TERfd| dar JmATor, A9, 3ugefa,
gl T FeYhROT HeoIiEdrsl Teded | dal Sier: F9ied|

FaTfe gite: war Smerfd |



TRTde afScar Teaed AgHcd Fadd -

g3 vend gaedr i 3eafd | 3w f9rae 3iRerd Tead| rd foema:
IR AR FIET IHNHAT Tog: dRRT fdefear: sigfed| qaiy
gite: St H, 3fed Tvear ufdion #eRd FHdfed| ¥a:, o
oA gaAe: fafeied) uae: $HAET e e sEn &g
TaRAfd |

3ccdAT: BTAT: YaTdepTel FAleATd UTeh Ta 3fcasafedl o i sheal
Grddds Hafed| dee] SIAH Peal Tl Pdfed| deeiedd ST €2TeaTl
fopf>ae S Hafed| Tdgeral & SE: FUS Uoled| ageh:
T T HAMOT oFTlcd | AAeg FIET 37AT: Y=Us: sfafd| faRiva:
ASHRT HTAT: HTEY: o7afd| T IleaT: JETon SRITH, HT3ed |
FATET-HHATA, UTeh HEAThTol: Al | dal Sell: TahREAE: I[6
idfadcded | Tarer qad faenidier: siseiay dHisfed| Jar g2
TS ITBA deT dET TR FeRaoT: #afd| dar fRea af:
Hafd| I Fay fee] 3feersR: TERfd| dear AATY, J9RIfor, 3ugHfa,
FeAllel T FehROT FesTedia Teded| dal ST FaUied|

qd: el 3eafa?

i



9alleh Ufodcar srenfaféseey ueaey ﬂaqaj,rdi I -

Aedlold Areddedds fFdfrad gigadr aisss)
dIdTcAS IERIAATT ARTHGT ROT Jued |

chi—gl\?lfﬁcﬁdn Tollctholah JeT:Trel Eh‘hf:ra#

LY W * N b N
AT JHIFAS el I HL HSHUHA|
qargd gRAeed T Hheldedhvd T dgcrdlqi'&‘

IMuET gRafsear fasrad aiarersEAioT: |

a#h@a#gﬁrﬁmaﬁ?

_ATE ool
N gaTeEel

| GeTEAel
faTerer

Correct Answer :-

. deT:Ee

4.



eellehl Ufocar srenfafeseey ueaey ﬂagdgcdi A -

AT ﬁajamﬂ‘rwgmﬁ?r Wﬁg:l
AT 43! A Haron AEdcldl
e e & gfg: erfed: wshe: |
¥5d IF dded dF ga: GG

JHIH: Th: ?

7 ool ufesaar srnfafEsery ueaE YGHc] AT -

AT ﬁ?@mﬁﬁm a’l@'ﬂﬁfﬁgzl
AT 4! AT Haron AEdcidl
e wed & gfg: erfed: wshe: |
¥5d IF dded dF od: GG |

ﬁ?FU'ITJ . 319 Qledr: ?

Correct Answer :-
of

) giafead saea [augaaFgaAd-

-~



R 9 R
| R Rt v
, T vicd 7 &

Correct Answer :-

¥ ofiedE ufdear geAE AR gaId -
ARHET oot ‘foeelr sfd amar fagariea | 3r/eam: oo faeaed
faemeryg TN fhad | #RA o U @Ifeleplal HFES T 3eleo)
femeraaAT F | QX T ATH SeauedH ScdsTdd | qd STNEedT,
AT [T, Tedeck T TSTAaAATAT HIroaefi = I T $IAT
USTHeA 3787ac] | 3MTorcIm: o 3T SAHT TSTlell 9eH 3ieg: |
HeATcaTR AGceN-UehlA [ AITIcTad foheciies 31 EATh G FldesTHed |
deT URCAMTATANT $IAT GO TGl 30e7dcd | 3 T HHRZDAH,
Tsufdeladd I Td: | Fealded AT STAd A9 |
38 QU IAART: Efar ¢ fausid | 37 smrivtarier gefeaner e
dded | 31T IHANT: 3R WS diefaidld garoregaanfed | v o
A ANl AAAT $d | 3T IRAY TAAY HEATTA TAAT SATRA
Hfed - FJa-FaFe:, oigearst:, UvsAll A, JUAAGIHH, TEFAGIH,
SATATESEH, Tead-A-AAAH 5ca1fe | FAdAY TAEY  AsgUiasiasis,
THEdTH, [daeTeidedd, 3cIATAH, Tdloadldedd Tl 3Ahliol
gseeaTiel TR dolod | ool 3eallal e 3T Ffed | Ay
gfigiel dfed dGI 36aT9dH, ARAEARHA (305aT 31T), dTelheRT 3114,
e daT 3eaH, fdepleaaa 7 sfa |

* 3AIOIAT: 3T & AN ?
, TR
PRSLEGH
Herera:

3.
, T

Correct Answer :-

| A



eollenl GfScar srenfAfdsced ey YA Faad -

HeAlold ARAdeddd fSdfead IfgaAar aikve
alclcHsl ARIAHET ANTHGI ROT qued |
HETUTCToleh STlctholch JaT:-Terel hIecsT
AT THFAD HIcTl I P HFHUH]
Hd159l gdeed T FHoldedhvs T aj_,crdlclfa'

My gRafear fasrad aiarersEioT: |

HTcHS: SIET TIAT: &h: ?



aRTee afdcar T AR FIdd -
AR Torrelr ‘feeelr sfar s fasanfea | s oo feae
faememrg FURIY ThIT | AR J TN Fifellar HEGS FAIRf 3feleck
farermeraaT O | T AT ATH GeauedH $cAAd | Yd SIRGET,
dded ASTYAVN, dEelock I JOlAdNATAT ATl AT, I T 5THT
TSTHTEAT 3787ac] | 3TgFciedlam: e 30 SAHT e 9eH 3eg: |
HCAAATRIGR-Thle G I TRITAH fohtcled 3EHATh S FATd-aHTTd |
deT UTEAAHATINT $TAT G Aol 3e7dd | 39 Ud HAZIAH,
Tseufdeiaddd T T | Fealded AT 5T [FUrd |

s QU IHAIT: GfaTo ¢ favretd | 37 3l g Frerie
gded | 37 g 3uR I defAffd gawoegaafea | va Yo
Siadd AN 1A d | 37 WHAY TARY JLAA EAAS SATIA
STHATARESIGH, Tod-AoaLdledd, 5l | aAdldy TAWY  Aegufdsiddd,
geeediiel TG ddled | eellslor 3elehiiel 3emeter 31T |fed | ay
RSl Afed WGl 36AH, ARAGARHA (STUSAT 31T), dATAReRT 36T,
FeadT 3eq1d, fdeielearsd T 3fd |

fh FIRA SegueddA gfd H2ad ?
1, feeelr



URTde afScdr Teaed YA Jadd -

g ued gaear ofr seafd | 3y oo siRed Tead)| 3t faem:
PR AR FIET INHAAT Tog: dRIRT fdefean: siafed| qefy
gite: STt e 3fad Tvear Uf@ion #eRd FHdfed| XE:, o
TerRd A fafeied) uae: FHAET e e En e
TR |

3cdAT: BTAT: YHTdhTel AU Ureh va 3fccasafed| o il shedl
CeduTds Hdfed| dee] A Fcdl Tl hdfed | deatea $27 ealeal
forfoae Sl Hafed| Tdesieak & SET: TUS Uoled| I
¥ T HATOT oerled | HeAee AEI JA9: veUs: safd] faRvd:
ASHRTT AT HEET: 7| T IleaT: JETON BHTH, JT3Ted |
FATET- AT, UTeh FLATehTol: $1ald| el Sell: TIPRIEAHIY: I[6
idfedced| UAeHe Tad faenaier: Hhisey #isfed| Jer g
TS BT del d&T Uil SOl #afa| der e af:
#afd| T Jay fee] 3feueR: TERfd| der AmaAroy, A9, 3ugHfa,
FeATlel T IeehROT HTesTiediel Teded | dal STl FaUied|

TRERdE TaHRITAHST: UeET 59 fasifad: -

agreﬂ



RS afScar T YA JIdd -
ANAET ool ool sfd A fagariea | 3r/eam: aoen fawae
faememyg T fhad | #RA U wifellar HEag TRl 3ol
faremeradAT 7Ol | [ HEAT: ATH GeauedH FcAad | Y4 SREET,
ddeT TSIV, dectock o TolAdN ATl FTra e T AT 3IHT
USTETAT 3737 | 3Tl AEehr: 30 SATHT T+l 9eH 3iag: |
HCAdcaRAgceR-Tehle fderfaerdad fhedled 31aATh e Falde>aHelsld |
deT UTSETAAATIIT $9AT g ASlell 317dd | 379 Ud HAZIAHA,
TSCufdsTaadd T T | Fealded AqMATT 5THT [T |

5 QU IHAIAT: GfaT0 a¢ faRreld | 37 eIl g Eureria
qded | 3T IHATT: 3R W dliefAHAd TeRoeaaA T | U e
giadd AN AT | 37 LAY EAHY JLAMA AT AT
STATATESIGH, ToA-HeaEdldd 3G | Ay FAGY  AsgUiastaeid,
geeedlil TGS dcled | fGeellee 3iaehifel Segmanfar 31T afea | ay
RSl Afed dlGl 36AH, STRAGIRHA (STUSAT 31T), dTeHeRT 36T,
e T 3eTTd, fdereleartd T 3fd |

TAATIT: FHIEAA d¢C Tordledl farerd ?



UR=de GfScdr Ueaed AgHAc FaId -

qd: yed qaedl Rfr seafd | 3y 9w siverd Tedd| et e
I AR FIET IWHAAT dog: dRRT fdefear: siafed) @ty
gite: Serfedl i\ sfed escar dffion @enad Fdfedl oRa:, oan
Tored FAae: fafeied) vae: FOAET oo e an fee]
TR |

3ccdAT: BHET: Telldehel FAlCATT Uieh Ua 3fcasafed| d et edr
GoduTdel $hafed| d&I CURAH Fedl Tl hdled | daededd S €ATcar
fenf>ae, STefareiiceh Hafed| Tagaed d BET: TIUIS Yoked| TIERN:
T T AT Mo | ALAE FIET 3A9: FoUs: safd] faeva:
fSHSIC AT IHEY: Hafd| dar UledT: FeTon SR e |
GAET-FHIAT TTeh HEAThTel: afd | Tl Sfell: THhRIEATAST: T[6
yfdfAaded| VaRkaA 7Y facznfae: Hsehy disfedl aar g3
HEATTS ITEId dal d&d YR FfERaeT: #afd| der sifikea uf3:
afd| TE Fary o] sfeusdr: gERfd| dar Jmerfor, Jerifor, 3ua=ts,
gl T FeYhROT HeoIiEdrsl Teded | dal Sier: F9ied|

AES v el satd|
,, agut:



9ellohl UTacar refAesesy goaey gagagcdi A -

Hellold ARRAdeddd Sdfead Jigadr v
aldlcAs] eRIAACT ANTHG ROT yued |
FEqUfcelsh Tellcthelsh J&T:FAel HIETe

o

P

./

b

AN JHFdh Al JUT X PHFHUTH]
qa159 gRdecel T Heldedhvs I ajgcrdlqi'a‘

MuEr qRafedr fasad it i

IMITIISTHTOT: &: ?
o,

26) .
eellenl afScar srenfafdseed wered eHac Faad -

AT faearaa swy: Afed canfaaar RY:|
AT aaAgAr A fon Adefd
3eH: Aew O afg: afea: o
¥3d I dcded dF aa: SHIGTd |l

hd#: UT: UTh: ?
TAH:
I

2
3. U>H:

, IS

Correct Answer :-



Yoliehl UfScar eNfAfEsesy ueaedr AgHecl T -

mﬁ?rﬁajamﬂ‘rwgmﬁa Eﬂ]ﬁmﬁgzl
ATEd AT AT fdion Aadiefd
e ared & gfg: erfed: wshe: |
Y3d IF dded oF &d: UGl

Y3d 3¢9 o: Afeel: ?

| cad

3. 2
. K [ZIDIEEICE

Correct Answer :-



TRTBE afdcar T AN JIdd -
AR Torrelr feeelr sfa e fasanf®a | srem: oo feaww
faemerg IRy ThOT | AR J UST Fifelldr HEGS FAIAT felec]
faremeraaAT Ol | [ AT ATH GeauEdH FcAsad | Y4 SIREET,
ddRT TSYAN, deedeck d YA Hereraefi e, a T 338a
ST 3787a] | 3TgFereediam: ey 30 SAAT AT 9eH 3eg: |
HCATATRIGR-Ushle [ TRITAH fohEcled 3EHATh SN TaTde-aH T |
deT UTSCTAHATINT $TAT g TSl 317dd | 39 Ud HAZIAH,
Tsgufdsiadd T T | Fealded AMATT sT7T U |

s QU IHAT: GfaT0 ¢ favreid | 37 eIl g e
gded | 39 g 3uR W defAffid garoegaafea | vE e
Siadd AN AT Fd | 3 HAY EAAY LA A AT
STATATESCH, Tod-Hoaedleid $1iG | diay FARY Tegufdsided,
geeediiel TG ddled | eelislor 3felehiiel 3edmeel 3T afed | ay
TSI Afed diGl 36AH, STRAGARHA (STUSAT 3IT), dTAHeRT 36T,
Fe AT 3edTad, fderleartd T 3fd |

foh A 3T fgoell AN ATRET ?

1 dlelenCXl Sgdlad

2. C -
3. : -
. AEr 3eaH,

Correct Answer :-

. CTeTsTeT 3eTAH,



eellenl afscar srenfafdsesy weaed gack gaad -

HeAlold ARdedddl Sdiead gigadr aive)
aldlcAs IRYAATT AHG ROT e ||
Fe{ifcielsh Tellcthelsh J&T:Frel HITIs
AR gHlFdD Pl dUT P HSHUH|

qas3l gRTeasd T Heldedhvs O aj,crdlqﬁ

Topic:- Social Science (SSC)

1) “A project is a whole hearted purposeful activity, proceeding in a social environment”. This was quoted by: /[ "T& fegeT ‘IUf U Th G%W‘qu
TR AR 2, & T I araraRer § o St B 1" TE 5% gRT Igyd fhar T un:

1. William Kilpatrick / fafermm faiifes

2. John Dewey / &4 1t

3. John V. Michael / S dt. AIgHd

4. Stevenson / WIa=

Correct Answer :-

« William Kilpatrick / faferrm foretfes

2) Constructivism as new philosophical approach for curriculum designing focuses on: / UTGdshH f%ﬁl‘l’{ﬁ'ﬂ & ﬁl‘t{ g a'l'!lfﬁiﬁ GRcauk Rk
IRTTETG TR T FHigd FRa1 g1

1. Intrinsic motivation of the subject/ v o sifalke sifvgRom
2. Delayed punitive mechanism / faiferd deTere gomet!

3. Extrinsic motivation of the learner / Rr&meff &t dTgl U=
4. Immediate reinforcements / HW{E‘@WUT

Correct Answer :-

« Intrinsic motivation of the subject/ fawg &7 effaie sifRom

3) Which learning is interdisciplinary and focuses on active, student-directed learning providing students an authentic, real-world context for
learning? / ®1 T SifeRT, ofe:fw B ofk wfha, Bm-MERE sftrm w e Hika wwar 8, PR o &t Wrem F Rre ve wranfie, arafas g o1 waaf
Y f3ar wirar 82

1. Experimental / TS



2. Curriculum Based / UTGUhH SR
3. Project Based / RS IR Semia
4. Rote Learning / 3¢ SHfTH

Correct Answer :-

o Project Based / RS IR Semia

4) Which among the following is an example for institutional credit? / fFrafafaa & ¥ $19 91 GRIFE 9 & fore ue 3T 2
1. Moneylenders / HIgPR

2. Primary Agricultural Credit Societies / I tp‘fﬁ g gihfaat

3. Traders / SATURY

4. Landlords / STHIGR

Correct Answer :-

o Primary Agricultural Credit Societies / PIdiery q;fﬁ IR it

5) Which is not a quality of an evaluation tool? / g % ¥ T U Heui® IUHIV S Teh T[Uraw 81 82
1. Validity / e

2. Practicability / TTa@TRHdT

3. Objectivity / FTa&fd

4. Subjectivity / FTRTIREGAT

Correct Answer :-

« Subjectivity / SfGTUR AT

Match the following :

1. Poona Pact A. 1925
2. Rashtriya Swayam Sevak Sangh | B.1931

3. Simon Commission €.1932

4. Gandhi Irwin Pact D.1927

| ETATET & H= S

1. AT Tosiar A 1925
2. TSgT Tt daw @ | B, 1931
3. W R C.1932
4, wiefr-gtfaw wAstar | D. 1927

1. 1-A,2-B,3-C,4-D
2.1-C,2-A,3-D,4-B
3. 1-C,2-A,3-B4-D
4.1-D,2-C,3-B.4-A
Correct Answer :-
« 1-C,2-A,3-D,4-B

7) Thin vertical and horizontal magnetic intrusions in the country rocks are known as which of the following? / I P ﬂs‘Fﬁ T gael SHeafer 3w afast
Yaaa 03 g 4 Q 1 peard 82

1. Lava /oTdl

2. Locolith / daifery

3. Plutonic rock / W@ﬁa? EEE]

4. Dyke and Sill / ST3® 3R Ria



Correct Answer :-

« Dyke and Sill / ST5% 3R Ryt

8) The method which provides a certain degree of reality and concreteness to a learning situation is known as: / dg faftr st siftrm fRufa &Y
qrEafaEar iR REdT UoH Sl €, I4 = Fe1 o 8:

1. Lecture-Discussion / RSH-TEt
2. Field trips / & T

3. Dramatization/ ATe® g ®UIAR
4. Demonstration / U&=

Correct Answer :-

« Field trips / 8% tdeq

9) Who among the following started the Home Rule Movement in India? / HIRd | ﬁ'ﬁ >d Gﬂa?ﬁ' ﬁl’gﬁlﬁﬂ | @' m GRT Y= foar
™I Y1?

1. Annie Besant / Q:ﬁaﬁ'c'

2. B.R.Ambedkar / 1. 3R, 3fa8aR

3. Jawaharlal Nehru /WWW
4. Subhas Chandra Bose /ﬁﬁ-ﬂqﬁﬁ@hﬂ

Correct Answer :-

« Annie Besant / Q:ﬁa@'c'

10) Who was the famous Bhakti saint who belonged to the royal family of Mewar? /B uirg ufea wa A= ﬁﬂ'l?)' F g ufaR |
g v A7

1. Meerabai / Iﬁﬂaﬁi‘
2. Chaitanya / EGR!|

3. Tukaram / JPRH
4. Andal / 3@

Correct Answer :-

« Meerabai / Iﬂ?la'lg

11) Who was the first surveyor of archaeological Survey of India during British rule? / faferamm & ?ﬁTF‘l YR RIdd ﬁ&‘I'UT Cal
U AT DI UT?

1. Alexander Cunningham / IS BITIH
2. James prince / S fif

3. James Fergusson / SR m

4. Dayanand Sahni / SOIG ATgeil

Correct Answer :-

+ Alexander Cunningham / JAaoieR Hi-ad

12) Who founded the Swaraj Party in 1923? / 1923 ¥ Y7ol UTef &t RITU=TT foreqq @12
1. Motilal Nehru and C. R. Das /Inﬁ)ff‘ﬂ?fq—b'?; AR 3R, o

2. Gandhiji and Jawahar Lal Nehru / efisft 33? SIdTgR ol %F

3. Subhash Chandra Bose / gHTY g5 99

4. Sarojini Naidu / BSRUCE] Iag

Correct Answer :-



« Motilal Nehru and C. R. Das / HIll Td A8 3R . 3R, g™

13) Who is the exponent of Jurisprudential Inquiry Model? / faftremea Teeh wifg Aisa & ulaues $19 %?
1. Bill Gordon / f§ 8=

2. Richer Suchman / =R gaa=

3. James Shaver / SR QIR

4. Hilda Taba / <7 ara

Correct Answer :-

« James Shaver / SR YaR

14) Who was first elected to the British House of Commons? / ffe=r B3 3T BT m I Uga f&a AT T Y1?
1. Jawahar Lal Nehru / SIdIgR dTdd ﬁgqa

2. Mahatma Gandhi / 8T Tt

3. M. G. Ranade /Qﬂ.\_rﬁ. IS

4. Dadabhai Naroji / E'IETQ-I'I_EE ﬁfi\?ﬁ

Correct Answer :-

- Dadabhai Naroji / GTaTHTS ARISH

15) Capital of Ancient kingdom of Avanti was: / 3t & WIS "ty @1 Irerert ot

1. Vallabhi / deci+it

2. Pataliputra / U'I?ﬁfﬂa

3. Vidisa / fafe=m

4. Ujjain / Jso

Correct Answer :-

« Ujjain / IS0

16) For what action in Freedom Movement is Usha Mehta known? / Sda=dl Gﬂﬂm Ffpaed® ﬁ'ﬁf ST ﬂ??lT EIGIRCIGI %.?
1. Participating in Round Table Conference / RS R | 4T A9 & ﬁﬂ!

2. Running a secret Radio during Quit India Movement / HRH@I@[ 3 & aﬁw Th ‘Iﬁi‘%ﬁriﬁﬂﬁ
3. Captain in Azad Hind Fauz / 3fSllq e BN # o 979 & o

4. Captain in Indian National Army / R TP 1 & P

Correct Answer :-

« Running a secret Radio during Quit India Movement / W?ff@f TSI F SR Ub {Iﬂmaﬁlﬁ

17) The famous woman ruler of Ahmad Nagar, Chand Bibi fought against which dynasty? / [GHGTIR &) uRis Afger I die i A
frw a9 ¥ faare asrE @z

1. Mughal / HTel

2. Adilshahis of Bijapur / STGITgR & SHTfE=ITg!
3. Afghan / 3BT
4. Nizamshahi of Hyderabad / %a? 91 & FemI=Ig

Correct Answer :-

+ Mughal / Tl

18) The coin Rupiya was first issued which ruler? / FUTT R a9 Ugd 59 I A W) fvam 4



1. Humayun / §HIY,

2. Babur / dTaR
3. Sher Shah / ]R 21§
4. Akbar / HhdaX

Correct Answer :-

« Sher Shah / RR M8

19) The cardinal objective of setting up a Social Science laboratory in the school is to: / fa=Taa ¥ wraTRIES fagm vaT=ITaT ®Ifa F1 &1
T SeRA ©:

1. Preserve and transmit the art and artifacts to the future generations / <l 3R Rrcaep ol &1 WRfdm H IR Hfgw 3 fifgar Wqﬁ'ﬂ'ﬁ'{
2. Create an artificial environment for recreational activities of students / BT &1 ARSI ATl P T T Ep'ﬁ'q CIGICRUECEIGI

3. Extend additional space for group activities and project works / Wm 3R gfTorT Bt & forg ifafvad i &

4. Translate the theoretical postulates in to concrete experiences / Jgifaw sifiyyromatt &1 Glﬂ'l-lfﬁ o 3fdlq HAT

Correct Answer :-

« Translate the theoretical postulates in to concrete experiences / Jgifas sfreRomsy &1 o 3@“—@ o 3fdlq DT

20) Two or more people learn or attempting to learn something together is known as: /&Y a1 3P AR Uh a1y W?ﬁ@a %“CIT W &1 7as
A §, @ A Tw T §:

1. Learning by observation / 3facid gRT 3y
2. Learning by doing / framja® siftme

3. Collaborative learning / ITifgd IR

4. Team Teaching / G fRiefor

Correct Answer :-

« Collaborative learning / ITi{ge® ST

21) Which one of the following is not included as a function of Summative Evaluation? / Frufefa # & e armee qegipd FrH A F EIHA
i T8 82

1. Promoting / PIGEI R
2. Selecting / Igq

3. Diagnosing / Fa™
4. Crediting / 9 &

Correct Answer :-

« Diagnosing ARG

22) Which of the following is not a basic principle of Project method? / Frafafaa & 3 s ufaerr fafy &1 W‘FI”RT@[TH T2
1. Validity / et

2. Activity / Tifafafy

3. Utility / ST

4. Purpose / B%_Q-q

Correct Answer :-

« Validity / 3&r

23) Which of the following is the process of pinpointing the learning difficulty of a learner of a learned material and to suggest remedial
measures? / AT & @ 1 Wl 5 avg & o Riendf 1 diram 31 sfearE &1 9€t var e 3R TR Il 31 a3 $t wiear
??



1. Projective technique / T abHIs

2. Norm-referenced testing / HI- T Tefifa wdreo
3. Diagnostic testing / FeTe wdteror

4, Criterion-referenced testing / AFGS Tafid fafdy

Correct Answer :-

« Diagnostic testing / Farfe wteo

24) Which of following steps is not involved in Inquiry Method? / US-aTS faf¥ #f 1= |1 IR0r INfirer 7Y 82
1. Encounter with the problem / FHXIT hT HHAT HRAT

2. Formulating an explanation / T W@W IR BT

3. Data collection and verification / g1 4Ug 3R g

4. Classification and consensus / G¥TERUT 3R TwAfal

Correct Answer :-

« Classification and consensus / [T 3R FIamfy

25) Which among the following is not a technique for ensuring reliability of a tool? / Frafafa & 3w fayaaar &t ﬂﬁﬁﬁ A B aBAID
e

1. Odd-even method / 9 fawm fafy

2. Split-half method / fvaT faftr (Ruce-gTw Aus)

3. Test-retest method / TRT&0T Q:T:-qff&‘l'UT fafy

4. Criterion-referenced method / HFe.8 Taid fafy (wreefa-Riiss ys)

Correct Answer :-

« Criterion-referenced method / HFe.s "aid fafy (spreefto-Rwics fm—eﬁ

26) Assessing social relationship among members in a social group is termed as:

/ T TS THE ¥ Aewl & St A waef & Smead & A1 we1 wrar @:
1. Projective technique / gadt Jeie

2. Case study /Y TS

3. Sociometry / FHTSIH{

4. Observation / 3aad

Correct Answer :-

« Sociometry / FATSIHTT

27) What was the approximate share of industry in GDP in 2015-16 in India? / 2015-16 Y URd ® god mm @ﬂ%&lﬁ) T T T IR fHam
yfersra e

1. 43%

2.31%

3.29%

4. 18%

Correct Answer :-

. 29%

28) Gandhian Plan was advocated by ./ Tﬂ'c‘nﬂ'lﬁ Il Ca) Wﬁ & aRT fo&ar war i
1. M. N. Roy / AFIASTY X1

2. Jayaprakash Narayan / STUR TR ARTIU



3. Narayan Agarwal / TRTIUT YA

4. Jawaharlal Nehru / WW

Correct Answer :-

o Narayan Agarwal / TRV 3T

29) National Forest Commission was established in the year . /?Tg']'q T SATENT BT RITYAT a9 i §§ Rl
1. 2003

2. 2005

3. 2002

4. 2004

Correct Answer :-
* 2003

30) In which city was the first Automated Teller Machine (ATM) installed? / UYH 3feIAes R wRi= (ﬁ?ﬂﬁﬁ‘f TWW‘«’ﬁ:T) (Qa'Q'q) foa AR |
y1fua &1 7 A2

1. Chennai / %ﬂs‘

2. Delhi / et

3. Calcutta / hIbdl
4. Mumbai / Haé

Correct Answer :-

e« Mumbai / Haé

31) Which of the following factor is not the geography factors influencing population distribution? / Frafafed & § $19-91 RS JaE faavor s
TR A a1 Y PR T8l 82

1. Soil / Ja1

2. Water / GT11

3. Climate / STcfdrg

4. Industrialization / 3eieRor

Correct Answer :-

o Industrialization / i

32) FAO stands for . / THT3H BT guf =g H

1. Food Aid Organisation /%Q_s' Q"JﬁavTrR m

2. Food and Agricultural Organisation / 8 Q_S'Q"JﬂWT 3T 3@13 -

3. Federation for Agricultural Output / Tr&<RH BIR THHeeR 3M3TYL

4. Federation for Agricultural Off take / e IR m 3 B

Correct Answer :-

» Food and Agricultural Organisation / S ) mﬂw GiTPf:ﬂga'EZﬂ

33) politics is based on the idea that religion is the principal basis of social community. / RG] ELi faar = snutia %ﬁf of
GICISED Y™ DT 4qd STUR H

1. Regional / e

2. Communal / FTGTRI®
3. Local / ®IT1

4. Social / FTHTNS

Correct Answer :-

« Communal / SIS



34) Who said that, ‘As far as the nature of legislature is concerned it is such that there are restrictions only so far as procedure is concerned. But in
substance there are no restrictions, no limitations on the sovereignty of the legislature or parliament.’ / & Dol %, 'FI'ET a9 fauRer aﬁu@ﬁm
ey g, o ufoey Faa uipar & weu # §, AP arafaear § faufe a1 wue 3 Suyar R w1 ufaay 78 g, s dma T8 g1

1. Acharya Kripalani / \}mm

2. Purnima Banerjee /Ujﬁftl'[a:lﬁﬁ

3. N.V.Gadgil / T1. a1 1a

4. Durgabai Deshmukh / G7TId é?@mﬂ:@
Correct Answer :-

« N.V.Gadgil / T.91.TSAIA

35) Who can confer civil and military awards on individuals for their services and achievements? / Jarait Gﬁ? IUASAl & ﬁl’lz il oY ARG Sﬁ?
A REPR B UGH H Thal 82

1. President / Tl'gqﬁ

2. Prime Minister / TTIHA

3. Cabinet Minister / %ﬁﬁ?ﬂsﬁ
4. Chief Justice / BT TR

Correct Answer :-

o President / TI'E'EIﬁ

36) Who was the first social scientist to make a systematic study of bureaucracy and described it as rational and the most efficient form of organisation? /

BT BT HARAT AT HIA ATl SR T/ THE 3R WS BT TG A T T 913 g IS dqiS B &2
1. Karl Marx / Tel ATRE

2. F. W. Taylor / Up. S&g, TR

3.F. W. Riggs / U. s&g, Req

4. Max Weber / Hag daR

Correct Answer :-

¢ Max Weber / AT IR

37) Who was the first Chairman of Planning Commission of independent India? / qaT URd & T arrtﬁw%uzﬁ A& a’ﬁT{ 2
1. Morarji Desai /'J:l-ﬁ?'RTb'T'TaqlTs£

2. Lal Bahadur Shastri / €Tc §8TgR AT

3. Pandit Jawaharlal Nehru / tfsd Saredra %QK

4. Dr. Rajendra Prasad / 3T, o= Ue

Correct Answer :-

« Pandit Jawaharlal Nehru / Gf&d SaTerard g®

38) Who is the founder of Bhartiya Jana Sangh? / YR W%Wﬁﬂ%v
1. Gopal Krishna Gokhale / me

2. Shivaram Rajguru / WW

3. Shyam Prasad Mukherjee / RUTH YT H@Tfﬁ

4. Sukhdev Thapar / T;Kq%a YR

Correct Answer :-

o Shyam Prasad Mukherjee / RITH UdTq E[@Gﬁ

39) Who will officiate as President till the new President is elected in case the office falls vacant and the Vice-President is not available? / ?quﬁ Capip

¥ e 817 SR SRTPufa & Iucsy 781 g @t fRufar & 1g wigufar & faffaa 819 7@ wgufa & w0 & o9 o Ham?
1. President Secretary / ngqﬁ[?lﬁ[a



2. Prime Minister / JYHAT
3. Executive Secretary / FHR! I
4. Chief Justice / TBH RHUEIN

Correct Answer :-
 Chief Justice / &1 It

40) The monetary assistance provided by the government for encouraging the production in an economy ./ Sforawyr I DI m’a‘ﬂ%ﬂ'

s PR weRERI AR ARG TwEEa___ ®
1. Tariffs / e (SRW)

2. Subsidy / JSTIGHIT (AfeqaT)

3. Quotas / PIeT

4. Embargo / SITIR fasy

Correct Answer :-

+ Subsidy / TCTIGRIAT (WfTS)

41) When was the National Rural Livelihood Mission launched? /?T@'q yreftor srrehifaeT fame PIYE fomam a2
1. 2001

2.2010

3.2002

4.2011

Correct Answer :-
e 2011

42) “Explain the concept of Forests” — this question helps us to know the achievement of which of the following objectives? / "Gl DY AR B TSAT

B 1" — Tg vy gH Frafifad # A {5 Sty &) Suafsy s § A #are?
1. Skill / BRI

2. Creating / goid BT

3. Analysis / fa=esor

4. Understanding / IH

Correct Answer :-

e Understanding / JH

43) The Golden Age of the Guptas is said to be the reign of which ruler among the following? /ﬁ"}lﬁl’@?‘l’ﬁﬁ g IIe & ARIAETE B
T} T TVl a1 HT SATaT 82

1. Skandagupta /W

2. Chandragupta Il / T I
3. Chandragupta | / I |
4. Kumaragupta / PHRIE
Correct Answer :-

« Chandragupta Il / I I

44) Who was the founder of the Holkar Dynasty? / &R IJea¥ & TRITTH BT A?
1. Bana Misra /ETUT&[‘}IT

2. Malhar Rao / HegR XA

3. Baji Rao / STt ¥@

4. Madhav Peshwa / H18d O=ral



Correct Answer :-
« Malhar Rao / HeGR 14

45) The 110 km long Actual Ground Position Line (AGPL), which has been a thorny issue between India and Pakistan is located near which among the following?

/ 110 fpaiiex ot aRafde® TS NRmEE w5 (Tedive), s HR4 3R Tifhear & da sifed g1 36T 8, FrafifRa 3 @ frad e Ra 2
1. Shakshgam / RT&TH

2. Siachen Glacier / RiaTRH R™R

3. Sir Creek / TR b1

4. Srinagar / TR

Correct Answer :-

« Siachen Glacier / R AfRRR

46) Which of the following organisations brings out independent reports on the violation of human rights all over the world? / FPrfafea & & Si-ar Swe

& g & AR RY & Jeedd W WA Rud arar @2
1. UNESCO / Ti%h!

2. Amnesty International / THE SemAd
3. International Humanitarian Law / GER?T@U BIC i Eabsl

4. UNDP / guASU

Correct Answer :-

« Amnesty International / Qﬁﬁ 3’2@3 I

47) Which of the following is not a type of Urban Local Government? / Frafafaa & 4 st TP THR B et R TRPR T
1. Zilla Parishad / e Rwa

2. Notified Area Committee / 3‘|ﬁ|ﬁﬁ|ﬂ aﬂ Tfafg

3. Cantonment Board / EICRICIS]

4. Town Area Committee / DIl RERIEI

Correct Answer :-

« Zilla Parishad / forem uftwg

48) External criticism is applied in: / 9Tdl 3T _ﬁa’ﬁlﬁﬁl’rﬁ %I
1. Experimental research / UTRT® SgEeM

2. Quasi experimental research / 3 yrfis S

3. Historical research / tfﬁf@ﬁ?ﬁ G{ﬂ'ﬂ‘iﬂ:[

4. Phenomenological research / LCEICRIC] gy

Correct Answer :-

« Historical research /Qﬁ%’m S@%IFI

49) What is not true about Hasan Gangu Bahmani? / 89 T 9601 & aR ¥ &1 9 81 82

1. His kingdom stretched from the Arabian Sea to the Bay of Bengal, included the whole of Deccan up to the river Krishna with its capital

at Gulbarga. / 3711 YT 3RT TR ¥ FTTd 1 WIS ! b Wl oY, FTTH T[eraTt & U=t ATt & T1Y FM ¢! a9 GRT Gah Frterd ATl
2. He was a Turkish officer of Devagiri. /aaﬂ'ﬁlﬁ%wgﬁ@@w g

3. Hasan Gangu Bahmani was the founder of Bahmani Kingdom. /EWTFNE;H#“I, T WU & RIS Y|

4. He founded the empire in 1437. /38 1437 H YT St R B |

Correct Answer :-

« He founded the empire in 1437. / 381 1437 H UTHTT &1 RIS



50) Which among the following organization is the best example of an agreement between Oligopolists? / Frafafeaa & 9 S19-a1 d1ea

SRS (SRR & fiv Te U BT I 3T ISTeR0T 82
1. GATT / SiTetet
2. OPEC / 3fdiget
3. WTO / Ssgeiail
4. WEF / S&gSUH

Correct Answer :-

. OPEC / 3Nt

51) Which one of the following ocean currents does not occur in the Atlantic Ocean? / fFrafafaad s a?ﬁ-%ﬂqsmm YR fecifed
HEMRR & T8 el @2

1. Peru current / TRE YRT

2. Canary current / HART YRT

3. Gulf stream / Teth th:[

4. Brazil current / Wﬁnﬁ YRT

Correct Answer :-

« Peru current / T YIRT

52) In which State of India is the Ranthambore Tiger Reserve located? / AR CIT R frord wRa & fra =w A Ry %?
1. Uttar Pradesh / TR US¥T

2. Madhya Pradesh / & T

3. Himachal Pradesh / fgAm=a gg=r

4. Rajasthan / JTSTRITT

Correct Answer :-

« Rajasthan / ISTYH

53) CANCELLED

Which is associated with Sufi Saints? / CaC| a1 '\‘I‘Tﬂ Tl A Tefid %?
1. Sangha / Ty

2. Mandapa / Hear

3. Synagogue / AT

4, Kanjah / Gl

Correct Answer :-

« Kanjah /&gl

54) When is 'National Education Day' celebrated in educational institutions at all levels across the country? / IR AT R w® ﬁf&mwﬁfft

<TgYa e feaw wa 7T ST 72
1. 15™ September / 15 RGESR

2. 12" October/ 12 3SR

3. 14" November / 14 FdsR

4. 11" November / 11 TdsR

Correct Answer :-

« 11" November / 11 FdaR

55) Which among the following is a wildlife trade monitoring network? Fefaf@ad s TP goilg HATUR AR Aead &2



1. TRAFFIC / ¢fthes

2. UN-HABITAT / gu-gdlee
3. PETA / Ual

4.DISS / f&d

Correct Answer :-

« TRAFFIC / ¢fpe

56) Which year British transferred the capital of India from Calcutta to Delhi? / o a9 # fafewr 3 WRa FY IoruT Sere '\Qﬁc_vﬁ TyFiaied 1 4t »
1. 1912

2.1930

3.1911

4. 1900

Correct Answer :-

e 1911

57) The pointer or arrow of the magnetized needle of a compass indicates which among the following? / Wﬁ?\‘]\?ﬁ; (PHITH) aﬁﬂﬁ'ﬁ)_d

g 1 a® a1 7R Fufafea § 3 53 e swar @2
1. Geomagnetic North Pole / a1 IR ¢d

2. Geographic North Pole / e STt gd

3. Magnetic North Pole / 9o g J_1 ¢d

4. Magnetic South Pole / W?«'ﬁ‘mﬁ gd

Correct Answer :-

« Magnetic North Pole / W I g

58) Which type of weathering is caused by Ice Crystal growth? / 8 ¥ai #t Tafg (3msw fveea My) & e & R f5d UHR &7 e
g e?

1. Cavernous Weathering / HaIT ue
2. Biological Weathering/am S{U&T

3. Chemical Weathering / I 3™
4. Physical Weathering / Nfae sraer

Correct Answer :-

« Physical Weathering / {ifae s/uer

59) Bessemer process has been used in which of the following industries? / AR uferar &1 Iyt fAufafaa A @ forw s A forar man
®

1. Fertilizers / W

2. Aluminum /Q?Iﬁﬁﬁ'qq
3. Steel / THId

4. Coal / CANKI)

Correct Answer :-

o Steel / I

60) The Siberian Crane, an endangered migratory bird is a regular visitor of which of the following national park/bird sanctuaries? /WI?@'R’CFI

%, T quvra var! velht fFrafafea & & few ity Sem/ueh s &1 frafia smiges 82
1. Vedanthangal bird sanctuary / JaTTa valt SR
2. Keoladeo national park / Fadred mfm B



3. Ranganathittu bird sanctuary / {19 aag geft SRRy
4. Sultanpur bird sanctuary / GeaR G&ft HIRTY

Correct Answer :-

« Keoladeo national park / Hadicd TI'@'H 3



